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F5 FriE 4 i FrE+BitX a4 EmM&E (T)
1 18 % H KA JE & 1275
2 18 7 AT KER 1075
3 18 7 L R AT Wt T 1275
4 18 % H R AT g £ I 975
5 1% 7 B R AT ¥ 975
6 18 % H R AT Ji 7K B 1275
7 18 7 AT AT 1275
8 18 7 L KA = 1075
9 18 % H KA JE 5 70 1275
10 18 % R AT BX ZH 1075
11 18 % H KA Ak 7 1075
12 18 7 AT 5Kk X 1075
13 18 % R AT LS 1075
14 18 % H KA Wit E 1075
15 18 7 R AT = 1075
16 18 % H R AT x| 3 F 1075
17 18 7 AT =Ll 1075
18 16 % R AT K 1075
19 18 % H KA 38 B 1075
20 18 % R AT AL 4 1075
21 18 % H R AT AR 1075
22 18 7 AT F B A 1075
23 18 % R AT A3 A 1275
24 18 % H KA AT % 4L 1275
25 18 % A A AT K= 1275
26 18 % H KA AT 7K AL 1475
27 1 7 B K A JUR e 1275
28 18 % KA AT XA 1275
29 18 % H KA A JE KA 1275
30 18 % A A AT JE| 4 1275
31 18 % H KA AT K 1275
32 18 7 A A AT JENE 975
33 18 7 K A JUR S 1275
34 18 % H KA A EEE 1075
35 18 % A A AT FNT 1275
36 18 % H KA AT e 975
37 18 7 A AT e A 1075
38 18 % KA AT B 1075




F5 FriE 4 i FrEf Bt 4 EmEE (7T)
39 18 % H KA AT JERR 1075
40 18 % A AT 2R 1075
41 18 % H KA AT JE R & 1075
42 18 7 HES A1 B 1275
43 18 % HES S 1075
44 18 % H G a & 1075
45 18 7 AT JE T 1275
46 18 % H =S ERH 1075
47 18 7 HES i E 1075
48 18 % G i 1075
49 18 % H ES A 1E A 1075
50 18 7 HES ik 1075
51 18 % H =G A& B 1075
52 18 7 HES I~ 1075
53 18 % G T X 1075
54 18 % H S 7K B F 1075
55 18 % EE= K+ 45 1075
56 18 % H SR % e 1075
57 18 7 S ¥ H= 1275
58 18 % S XA 1275
59 18 % H H = AT 418 1275
60 18 % EE= B B 1275
61 18 % H H = AT 5] I & 1275
62 18 7 S B # 975
63 18 7 L EE= R 975
64 18 % H SR k& W 1075
65 18 % EE= kKA 1275
66 18 % H Sz L 1075
67 18 7 EE= 2 5% 9 1075
68 18 % S 58 5 1075
69 18 7 = ot 1075
70 18 % EE= XHF 1075
71 18 % H 52 At 17 4% 1075
72 18 7 EE K 4 1075
73 18 7 L I 2 AY 2 X T 1275
74 18 % H 524 e 1275
75 18 7 EE Ed=h 1075
76 18 % H 52 At WP 1075
77 18 7 I &2 A4Y i 1075
78 18 7 EE3 ¥ X 1075
79 18 % H - YR 1075
80 18 7 I 2 A4Y 5 E 1075




